*F E & H K ® i B W & &

STEIA16H
£AH g TEEH |FERSIOAZ|HEK) EB (ke)| SEM) | $EM) | RiEFE) k= No.
R7.9.16 [f2L\CA &t ) = @
R7.9.16 |I2ALA A Y = @
R7.9.16 |CI1X> &5t Y -
R7.9.16 |hACA A&t Y -
R7.9.16 [[£<E0 &t ) = ®
R7.9.16 [Fv~_Y &5t #Y = @
R7.9.16 [RoL2yy &t ) = ®
R7.9.16 |#a¥ (F) Gl ) —R ®
R7.9.16 [fa¥ &t ) = ®
R7.9.16 |L2X A Y = @
R7.9.16 |Zp>Y(X—3—) 48 By 507
R7.9.16 |Zwp>Y aF Y 2.0
R7.9.16 |MFHw &% ) = ©)
R7.9.16 |15 aF Y = ®
R7.9.16 [r<h &% ) = @
R7.9.16 |E—<> &t By = @
R7.9.16 |MAL& &t Y -
R7.9.16 [[Ehl L& &t By = ®
R7.9.16 |S&L 4 FhiE Y 10
R7.9.16 |S&LNE A Y = @
R7.9.16 |[PFEELLE &t 0] -
R7.9.16 |f=Fh¥ &t By = ®
R7.9.16 |&ELULV=IT E4A Y 0.1
R7.9.16 |4£LL V=T A|E Y -
R7.9.16 [ZDE11F =1 0] -
R7.9.16 | A%LOL FhiE Y 0.1
R7.9.16 [ 57%L&HL =1 0] -
R7.9.16 |&t 0] 2.0
R7.9.16 |#&t Y 2.0 i RE
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ATNTHEIA 16 A
£AH f FEEH |FERSIOAE| HEW |2H (ko) | SEMAE) HiE (M) RIE (M) &% No.
R7.9.16 |2 A dtimiE Aaxt 334 10 1,836 1,728 1,620 ©)
R7.9.16 |ZL\CA it Aaxt 334 ©)
R7.9.16 |IZACA dtimiE Aaxt 203 10 2,700 1,296 972 )
R7.9.16 |ICALA At Aaxt 20.3 )
R7.9.16 |ZIF5 55 A%t 10
R7.9.16 |ZIF>5 it Aaxt 0.6
R7.9.16 |hACA RI A%t 34 4 1,944 1,944 1,620
R7.9.16 |hAZA it Aaxt 3.7
R7.9.16 |l&<&ELY RE A%t 1.1 15 2484 972 864 ®
R7.9.16 |[E<ELY it AAxt 11.2 ®
R7.9.16 |F¥~Y K5 A%t 10 @
R7.9.16 |F+vRY BE Bxt 27.2 10 1,296 972 875 @
R7.9.16 |Fv Y At HAxt 27.2 @
R7.9.16 [RyLvry A #axt 03 —% 259 ®
R7.9.16 |RoL Y™ % A%t 0.1 —x 216 173 ®
R7.9.16 |7RoL>V aE AAxt 0.7 ®
R7.9.16 |Ra& () FriE A%t 06| —x 248 216 119 ®
R7.9.16 |fa& (A) &% Aaxt 2.1 5 2,484 2,160 1,620 ®
R7.9.16 |fa& At HAxt 39 ®
R7.9.16 |LAZR o334 A%t 11.9 10 1,436 @
R7.9.16 |LAR &it HAxt 12.0 @
R7.9.16 |Ew5Y(X—3—) FoiE A%t 5074
R7.9.16 |Zp>Y (A) i A%t 6.2 5 2,808 2,808 2,484
R7.9.16 |Zw5Y (H) 5 Aaxt 3.2 5 3,024 2,700 2,160
R7.9.16 |Zwp5Y At HAxt 13.7
R7.9.16 |MEL% JuiEE Aaxt 48 10 2,160 2,160 1,836 ©)
R7.9.16 | M EE% At Hxt 49 ®
R7.9.16 |%9 (58) [ITET Aaxt 6.0 5 2,376 1,944 1,080
R7.9.16 |%9 (R) I A%t 40 4 1,728 1,296 540
R7.9.16 |%9 Eh Hxt 11.9
R7.9.16 |r<k JbiEE A%t 49 4 3,024 2,700 2,484 )
R7.9.16 |r<hk H HAxt 0.4 4 3,024 3,024 2,808 [0}
R7.9.16 |r<k At Hxt 5.9 @)
R7.9.16 |[E—<> H T 1.0 0.15 119 108 54 @
R7.9.16 |[E—<> At Hxt 1.1 ®
R7.9.16 |MAL& FIE HAxt 15 5 1,836 1,404 1,080
R7.9.16 |MALE At Hxt 1.7
R7.9.16 |[Eh L L& JuiEiE Aaxt 16.9 10 3,564 2,484 1,836 ®
R7.9.16 |[Ehi L& &it Aaxt 16.9 ®
R7.9.16 |&&LVE fiidGi) Aaxt 1.7 10 5,724 5,724 4,860 @
R7.9.16 |&&l g = I A%t 0.2 0.5 259 248
R7.9.16 |S&LVE af Axt 1.9 ®
R7.9.16 |®FELLVE FE AAxt 0.5 4 3,240 2,700 2,592
R7.9.16 |FELLE CH AAxt 0.5
R7.9.16 |f=FhF dtisiE #axt 20.2 20 3,780 3,240 2,700 ®
R7.9.16 |f=FhR&E AaF HExE 20.4 ®
R7.9.16 |£LU M=+ FRiE AAxt 0.5 0.1 194 119 108
R7.9.16 |#ELUL V=T AaF Xt 0.6
R7.9.16 |ZDE1T RE AAxt 0.9 0.2 97 70
R7.9.16 |ZDELIF AaF Xt 0.9
R7.9.16 | S%L&HL RE AAxt 0.4 0.1 79 70 32
R7.9.16 | S%EL&HL FRiE HAxt 0.8 0.1 84 76
R7.9.16 | S7%L&SHL At AAxt 1.3
R7.9.16 |&F Xt 194.7
R7.9.16 |#a&t AAxt 194.7 iR RE
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F£HH o TEEM |FENMSIOAE|HEK) 2B (ke)| SEA) FEA) | REWMA) iE%E No.
R7.9.16 |&hA &% Y = <)
R7.9.16 [YAC &% ) = @
R7.9.16 %L A ) = ®
R7.9.16 [A&ES &% Y = ®
R7.9.16 <Y AaF Y -

R7.9.16 [LVELL EH Y 0.35

R7.9.16 [LMBLL a|E #Y -

R7.9.16 (4B (7—ILR) EH Y 8

R7.9.16 [*Q> =1 Y -

R7.9.16 (&t Y -

R7.9.16 [#st By = HiR:RE

3/4




F E & B KR % M & #® HF EH

ASTTHEIA 16 B
£AA % FTEEH |FENMEIOAZ 20 |28 ke)| SEW) F{E (M) RIE(H) &% No.
R7.9.16 |A#MAGEBRERM) |=F Hxt 10.0 10 9,720 5,724 3,564 @
R7.9.16 |#MAGERERM) |EiE Hxt 33 10 3,240 2,916 2,700 @
R7.9.16 |&H A a5 LS 13.6 ©)
R79.16 (VAT (Hr2oh%) |&F Haxt 1.9 10 5,400 3,240 2,376 @
R79.16 (VAT (#>2h%) | Hxt 20 10 4,320 2,160 1,944 @
R7.9.16 |YAZ (Y2 Dhi%) ot 4 Hxt 0.2 10 3,780 3,240 2,700 )
R7.9.16 VAT A&t Hxt 4.1 @
R7.9.16 |%xL (FK) s 4 Hxt - 10 ®
R7.9.16 |7zl (27K) R Haxt 9.3 10 4,752 4,644 4,104 ©)
R7.9.16 [%:L (25K) RE Hxt 1.2 10 5,184 4,644 4,104 ®
R7.9.16 [%L Ch LS 10.6 ®
R7.9.16 [RES(EI) RE Hxt 0.6 5 8,100 8,100 7,560 @
R7.9.16 [RES(EA—=) T Hxt 0.4 5 6,804 6,804 6,156 @
R7.9.16 [RES(v1o=wrAvh) [ILFEL Hxt 1.7 5 10,260 6,480 6,156 @
R7.9.16 [R&ES Ch At 30 @
R7.9.16 <Y R Hxt 0.2 1
R7.9.16 |<Y Ch At 0.2
R7.9.16 |LV6LL FhRE Hxt 04| 035 400 378 302
R7.9.16 |L\5LEL &a&t LS 04
R7.9.16 [AO(F—ILR) B8 rE Hxt 0.4 8 17,280 5,400
R7.9.16 [*Q> A% At 0.4
R7.9.16 (&t Haxt 32.3
R7.9.16 |#a&t Hxt 323 min:RE
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